
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

HX1133 08.12 hx102gp F 15-JAN-95

Engines NH/NT 855, NT495, NT743, NTA855 N106

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  HX1133 Expansion Tank  150 tube copper-nickel...(More)

     element heat exchanger for

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('hx102gp','/rtgraphics/english/parts/hx/1/hx102gp_sm.png');
javascript:swap_img('hx102gp','/rtgraphics/english/parts/hx/1/hx102gp_md.png');
javascript:swap_img('hx102gp','/rtgraphics/english/parts/hx/1/hx102gp_lg.png');


     use on all marine Big Cam

     engines. Includes mounting,

     sight glass and expansion

     tank. Cannot be used on

     aftercooled power units and

     and generator sets due to

     insufficient capacity. Has

     2 1/4inch O.D. tube type

     inlet and outlet connections.

1 S 103 D Hexagon Head Cap Screw 2 3/8 - 16 x 1 1/4 in.

2 S 109 Hexagon Head Cap Screw 2 3/8 - 16 x 7/8 in.

3 S 181 C Hexagon Head Cap Screw 2 1/2 - 20 X 3/4 in.

4 7274 Plain Washer 2 1/2 inch

5 108330 Plain Washer 4 3/8 in.

6 3088296 Filler Cap 1  

7 3008837 Sight Gauge 1  

8 3010323 Expansion Tank 1  

9 43828 A Hose Clamp 2 11 16 - 1 1/2 in.

10 3010550 Hose Clamp 2 3/4 - 1 7/16 in.

11 153408 Plain Hose Coupling 1  

12 170049 Elbow Hose 1  

13 3013320 Expansion Tank Tube 1  

14 3820664 Plain Hose 1  

15 AK 4012 MS Flexible Hose 2  

16 3025458 Pipe Plug 2 1/8 NPT.

17 S 945 Plain Pipe Nipple 1  

18 S 955 Reducing Pipe Bushing 1  

19 S 1059 Plain Pipe Coupling 1  

20 68138 Male Connector 1 1/8 NPTF x 7/16-20



21 68139 Male Adapter Elbow 1 1/8 NPTF X 7/16 - 20 (90).

22 69318 Plain Street Pipe Elbow 2 1/8 NPTF(Ext) x 1/8 NPTF(Int)

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

